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BEERA 0 mph5 10 MET 927.30M 247.66H 250.67H | 3.01H
BEEB 10 M#%ZX 25 MET 1,354.10M 204.98H 207.99M | 3.01H
Z0AtE
BeFERC 25 m#%ZZ 100 mET 1,640.10H 193.54H1 196.55 | 3.01H
BEERD 100 MaCZ3%5 2,982.10M 180.12H1 183.13H | 3.01H
BEKE 0 mph5 10 MET 927.30H 247.66H 250.67H | 3.01H
BERF 10 M#%ZX 25 MET 1,354.10M 204.98H 207.99M | 3.01H
258

BEERG 25 m#%ZZ 100 mZET 2,355.10M 164.94H1 167.95H | 3.01H
BEFEH 100 MaZZ3%55 3,697.10M 151.521 154.53H | 3.01H
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(201318 ~3H) (2021F58~7R) (202165 ~81)
L N GFI@MAmE
(BB % E ) 77,800/ t 51,730/ t 54,980M. t
L P GEIIBMAMIE
(% B % E ) 89,730/ t 64,810/ t 68,730/ t
F R R 79,220/ t 53,100/ t 56,420/ t

X EHERMEAE = L N GFE#HAMIEx0.9235+ L P G AM1§x0.0822 (10AKEMIER A)
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[RAMMARZEENER = TIREAUIE — BEETRERAUDE

= 56,420/t - 79,220/ t

= A22,800M. t (100AKELINIET)
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0.083M/m x FEXUIRZENER ~ 100 x (1 +HEHRR)
0.083M.,/m x A22,800 / 100 x 1.10
= A20.82/m (N3 3D L)
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